< 0dy > (kM)

Ratio

<op/p, > (%)

TP n (PCA to beamline)

BeStene Y “%gs%ff 5
|
|
|

T
§g§J:" g uare
Xe T

XelCPE

[Sejeieele

DD DD
3333
0 VD)
(D (DD
cc

eta
0 —efa
eta
eta

uarelo—s
uaregl—ste
uare30—Sie|

..................................

...................................

.............

.............

.............

0.95

-2 -1 0 1
TP n (PCA to beamline)

2

.................................

.............

2T 0 1
TP n (PCA to beamline)

2

-2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


